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Decimal Base 10

245

(2 x 102) + (4x 10) + 15x10%
2 x 100 + 4x10 + 5x7

200 + 40 + 5 = 245

Binary Base 2 int x = 13
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if prefix ("245")
== "O) "-> Ibase = 2

else it prefid ("235") == "Ox)1
-> iJase = 10
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M
Char *S = "245"

S ASCIE

S[0] =
2 18 = = 48

5 [17 = 14' 1 = = 49

S(2] =
1 51 * 2 = = 50

S[37 = 10 (3 = 5)

14 = 52

5 = 53

int Vo = S[o] - 'OI
VzO I 50 - 48

F 2

VI = S91] - 0

⑭ = 57 - 48

= 4

v
z = 592] - 0

⑧ = 53-48

= 5

int v = (Vo x100) + (V ,* 10) + (v :* 1)



Jint
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vintz-+ intstr-to
-
int(char *3) E

vint32
_
+v = 0 ;
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_

+ di ,

int i = 0
1245 "

While (Sij : = '10') 2 i

v = u⑩; v
d = s(i) -- 0-j V = 202
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- base

i
v = 245

v = v + d v = 24

i = i + 1) 2 [V
= 240

return V ;
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int to straum

int v = 245 ; 245/10 = 24
245 % 10 = 5

int dog dig da

do = v % 10

= 245 % 10 ascii
= -

v = /10 Char c = do + OI

= 245/10
= 24

di = v % lo

= 24 % 10

=⑪ -

v = -/10

= 21/10

= Z

dz = 0 % 10

= ② -

v = v /10 = 210 =) done !



Binary output

vint32 + v = 061010 10

int do
,
d . j day dy

base
do = v % 2
- 10 % 5 = 0
W

= 1018 % 2
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base
v = -/z- 2012 = 5

W
= 3010/2 010101

2010

di = v % z

= 01d % C
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Jool Jases ;

Gool Jagezo;

Gool base 16,

passe - Gras Large argo, Abase2, f baselo
& basal) ,
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struct config -it E

char input [MAx] ;
int is ase ;

Gool base2;
bool base 10;

bool base 16 ;
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struct confinest confis;/
->"Config-in it (confis)

parse - args (arggargu , of config
vintS]-+ v=,

~ = conv-str-to int (configinputyconfig, :baga)
↑ -
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int parse- angs (intage, char argu (3 >

Struct config-st#P)
-
Cp-base = False




